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BCM/M-20 12321
FINANCIAL MANAGEMENT

Paper—-BC-403
Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. 1 is
compulsory. All questions carry equal marks.
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Compulsory Question ( 37fard U97)

1. (a) Define the Financial Forecasting. 4
foita qaigaE sl aRefya ki)

(b) Name the various types of Preference Shares. 4

ity oA & fafa= gl @1 auH S

(c) What is Net Working Capital ? 4
s wEA gt o 72

(d) Write a note on Capital Budgeting Process. 4
Yol aSted sl gfepan W feoolt wifsu)
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(e) What is Cash Budget ? 4

qhs &9 1 &2

2. “Investment, Financing and Dividend Decisions are

all Inter-related.” Comment. 15

ferwr, foa aiwor wa enerer ol 9@ 9wt stR-wEg
g €1 feooit wifsw

3. What do you understand by Under-capitalisation ?
What its affects ? Also state he steps to be taken for

1ts correction. 15

U YNeRIUl ¥ MY o A €7 $H UROmH ol
I $Eh PUR & [T 3I3W WM el HaA I

I hHIfST|

4. What different forms of Securities can Public
Limited Company issue ? Discuss their significance
in detail in relation to Financial structure of a

Company. 15

qrefsiter Hifa At H foha-fra gor &t afasgfaa
&1 frie feen S "ehdl 82 T s & fodiE

ed & G<H H TR Hew w1 fomryde foe=H
SIS
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5. The shares of a Company are selling at Rs. 40 per
share and it had paid a dividend of Rs. 4 per share
last year. The investor’s market expects a growth

rate of 5 per cent per year :

(a) Compute Company’s equity cost of Capital.

(b) Ifthe anticipated growth rate is 7% p.a., calculate

the indicated market price per share. 15

fRel Pt & 319 40 *9H & feuw 4§ fom ® @
AR T Tooed od 4 T 9fg o9 WS g 2
fevTeh & aR § 5 gfaera gfqed faerd <X &1 emn
CalS |

() HHAT & GUAl AV hI AN Jd HIGC

(9) afg 7% gfasrd anfer farm@ T &t AN HI
STt € A 9fd % aeR Hed i AT S

6. Using Imaginary figures show how to determine the

value of firm under :

(a) The Net Income NI) Approach.

(b) The Net Operating (NOI) Approach. 15
HIeTeh 3kl I GAM Hd gL IJMeC b

(31) g M gfen|

(9) IS TREeH oF 3fewon & of=id ®H &
gea &1 feg ger frulor feen smar 22
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7. Following are the pay offs of three investment

projects : 15
Project Current 1st Year 2nd Year
Pay-off Pay-off Pay-off
— 3000 6000 —
— 3000 2000 4000
— 3000 3000 3000

(i) Calculate the pay-back period of each investment
assuming that Rs. 3,000 loss in the current year

represents the cost of project.

(i1) With the internal rate at 10%, calculate net

present value of each project.

(iii) Which project is best on each criteria ?

T fafm afEisHet # orrr frefafed = o

Project Current 1st Year 2nd Year
Pay-off Pay-off Pay-off
— 3000 6000 —
— 3000 2000 4000
— 3000 3000 3000

(i) 98 #Md gL f =g a8 # 3,000 % =IO
REISHT 1 T 1 gl Sl @, T
AAfY i TUMET hifST|
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(i) If% AR I 10% B a1 Ycdeh TRASH
S TaddaE goa fHeRife)

(ifi) T gfte o i9-ia @ IRES weiE 2|

The present value of Rs. 1 received during the 1st

and 2nd year is .9516 and .8611 respectively.

8. Discuss advantages of adequate working capital.
Discuss disadvantages of excess or inadequate working

capital. 15

e wrEeier St @ 22 Sttty el
UGSt % W Sy

9. What is meant by Investory management ? Why is it

essential to Business concern ? 15

T Yy 1 o Y ©7 Ueh FeEgsd HEIH &%
fau 3 = sEvas 272
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